Manuals+ — User Manuals Simplified.

SCANSTRUT HS-02 Manual Hinge System Instruction Manual

Home » SCANSTRUT » SCANSTRUT HS-02 Manual Hinge System Instruction Manual ™=

Contents
1 SCANSTRUT HS-02 Manual Hinge
System
2 Parts List
3 INSTALLATION
4 IMPORTANT NOTE
5 Documents / Resources
5.1 References
6 Related Posts

SCANSTRUT

SCANSTRUT HS-02 Manual Hinge System


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/scanstrut
https://manuals.plus/scanstrut/hs-02-manual-hinge-system-manual.pdf

Parts List

1 x HS-02 Hinge Kit

© 9 ©

4 x 60830 8 x 60085 8 x 60731 4 x 60080
M8 x 30mm Bolt M8 Washer M8 Shoulder Washer M8 Nyloc Nut

M8 x 25mm+ Length

M8 Fasteners for Securing Hinge Base

Parts Required

Tools Required



> —¢ ’ 0

Pozi Screwdriver 2 x 18mm Spanner Power Drill
@8.5mm (0.33”) @30mm (1.18”) Required Cable Size Drill
Drill Bit Hole Saw for Cable Seals
INSTALLATION
(o} X2
\
<2 @30mm (1.18”) x4
Hole Saw ' @8.5mm (0.33”)
’ Drill Bit
/
Base Gasket : :

PowerTower
Hole Patterns:

127mm - APT/SPT
150mm - Composite



4 x

5 13mm M8 Shoulder Washers
panner %@ (Included with PowerTower)
4 X 60080 @ 4 x 60830

@.
M8 Nyloc Nut M8 x 30mm Bolt
\@
4 x 60731 /@
M8 Shoulder 13mm
Washer Spanner

__

PowerTower
(Not Included) — o



M8 Shoulder
| WaSher

4 x‘..u. . -
x - .y e
-. I .

—a
&6
‘_"g
0203
:1-!
=3
Qg.
c
S 3
1]
o

Radome
Mounting
(Refer to
Specific
PowerTower
Instructions)




Pozi
Screwdriver

2 x DS-30 U
Cable Seals

= | =i
Y

*Fit provided blank bung if

cable seal not being used”
Waterproof Cable Routing (HS-02 + APT PowerTower Only)

(1) Choose bung closest to cable o.

X =0

@

Tip: freeze before drilling

*Ensure sufficient slack is left on
the cable/s for folding action”

Self-Adhesive Foam ——

Recommended for

Resting Position
(Not Included)

*Ensure any externally
" routed cables are not

pinched when folding”

IMPORTANT NOTE

HS-02 Hinge System is only compatible with marine electronics devices as stated in the latest Scanstrut Product



Guide — subject to change without prior notice.

Use of the HS-02 Hinge System with unapproved products, or overloading, invalidates any product warranty.
Scanstrut does not supply fastenings to fix this product to the chosen surface. Please choose suitable fastenings
for this purpose.

No liability is accepted for damage caused by incorrect installation.

The installation and assembly must be regularly inspected for evidence of damage or loose parts.

Product has been designed specifically for the mounting of approved marine electronics under normal boating
conditions.

5 Darts Business Park, Clyst St. George, Exeter, Devon, UK EX30QH
Tel: +44(0)1392531280
E-mail: sales@scanstrut.com

Website: www.scanstrut.com

Documents / Resources

HS-02 Manual Hinge System

SCANSTRUT HS-02 Manual Hinge System [pdf] Instruction Manual
HS-02 Manual Hinge System, HS-02, Manual Hinge System, Hinge System, System

References

« S Mounts, Waterproof Wireless Chargers, Cable Seals for Marine and Outdoor Technology | Scanstrut

Manuals+,


https://manuals.plus/scanstrut/sales@scanstrut.com
http://www.scanstrut.com
https://manuals.plus/m/57d634f52aa9d27364f1d3e1d58a201d74ddddd2b049c655450d102348badf5e
https://manuals.plus/m/57d634f52aa9d27364f1d3e1d58a201d74ddddd2b049c655450d102348badf5e_optim.pdf
http://www.scanstrut.com
https://manuals.plus/

	SCANSTRUT HS-02 Manual Hinge System Instruction Manual
	SCANSTRUT HS-02 Manual Hinge System
	Parts List
	INSTALLATION
	IMPORTANT NOTE
	Documents / Resources
	References



